0.07

-

ul




0.6

-

ull




LA
LI ] rl

\Y

vV V¥

it .
W~

0
I

24

0.6
0% 18
Lol
X4:242'47]—%q
e




4. e F A%

ofl

e AR FEQUS. 7 £Lo] 2718 FaiA L.

_1
ol

30°

L
o

[ 2
> =g 60°

(Zt =119] 37])=180°-90°—30° = 60°




5.

o5 =9 ol AA =gl of

oo  @s

®T

d

ONONORI ER
@ HHAE=S




o
K

ofnl

X

)
H

X
B

-

ul

X

1
H

X
i

-

ul

‘m%%ﬂiﬁﬁ%ﬂﬂiﬁﬂﬂ



A
-

2 7ted e Ao 180° SW AL 2@
AU webd, dAEge Oyt




QU7

e O

1.7,

KO




14717

o
A

7

2 oju

A

i

Fokism w2 vet

KX
=

0.62

s

9.

o<t

18
50

31
50

@)

36
100

1_0
™ O
Il
~ (]
g |l

=
(9]
°|=
Il
o
N
G_N




01259 A7t e B42 n

10.

2
16

1
8

125
1000




1L o9& 4g=u[ RS2 dwe 54

L

iy

0
o

0
o

vV VvV VVvYyYVvYVvYYyY
0A
i

0
L

26x32x04= 28,32, L_L 1
0710710 [ |
3328
1000
3.328
26x32x04= 20,32, 4 3B _ 400

10 10 10 ~ 1000
whebA] 4, 3328, 1000, 3.328 YUt}




[

w07

)

ol gyt

)

0| BF 2 HE=E HtEA]




of
o
J

ol

il

b=

@ "7 27171 =




50°

45°

@ A e

o




60°)/

7K?

®
W L) Zol

@7 e ar

9] Zo]

el

T

_I_

el
W B
B Y
o X
o r—
m o]
_ e
I
>
Y
+o
8
T
o __O
2 Ne
— —

0
| N

(Ztvaeel 27])
Al
ot




~-4cm- -~

/

50°N

£60°

~-6cm-




17. e AAZHEL I, AEHS BE T2A Q.

filo

. H =

o A

L o -
O AA = @ AA 1L (@)@ﬁ oA
@ A 1o ®)AH wo




18. %OMwmlo]wH ﬂﬂmnﬂﬂ° FE AFE UE

1 56
—o]567 = = =56
g 15671 = 15
3 117
o =1.17
100 Va7 = 100
19 3933
(o) 7 —
000 120770 = IOl =3.933
webA, 5.6 + 1.17 4 3.933 = 10.703 Yt}




L, Aolt}7}

3
8

2249 L Aol Hord Y Zapt

Lol g%k 7t

7
s T o

0.25L




24x8:|1—jox8:|:|1;<8=|1;0|=
> =
> =
>
> =
> Mg 24
> HE 24
> =g 192
> He: 192
24 24 % 1
24x8=20xg= 22582 _ g,

whebA 24, 24, 192, 19.2 YUt}




21. 27x183=4941 Ut} o]

15 olgatol [ forof 2
SAQ.
027x183 =] ]

Mo
i

2~
e

A

> £
> HeD 4941
(& FAE )x(Aa)=( T )
ol = A 52 SYyrh

e A = 49.41 JYth

i



22. A71E ¥aste] O ol >, <, = & R HE oA L.
790 x 0.001 © 0.079 x 1000

> E.

> HE <

790 x 0.001 = 0.79
0.079 x 1000 = 79




17
(1)4.64 @4%—0
(2)4.25 @4%
6
(8)4425 @47

-® (2) -
-© (2) -

©0)-9
©0)-9

(3)4.425 = 4

64 64 -4 16

1)464=4— =4 =4—
) 100 100=4 25

25 25+25 1
2)4.25 = 4— =4 4t
@) 100 10025 4

425 425 + 25 17

1000 1000=25 40




24. ol %ol 23 FofloF & AL LR 0238 F

A e Aol 9wl FakA e,

0.23-2 23] 0.01Hjo] B2 25 A4k T2
Aol 0.01 ¥l YU T},




&5 2

°©
e

o] glguct. o] Abgel

2F
1=

g 2L 4

of 6.02km

N

g Al

25.

jald

9.03 km

b

ul
RO

.l

|

2 6.02x 1.5

o]El_

Zr

= 1.54]




